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Math 1050, Exam #5, Spring 2014 Name KE Y

Instructions: Show all work. If you are using your calculator to solve, you may sketch a graph or indicate
keys pressed to show work. Exact values: do not use decimals in your answers unless the problem begins
with decimals, or is a word problem. All answers should be fully reduced for full credit. Draw diagrams to
help organize the data (this is worth partial credit). If you do your work on scrap paper, you should indicate
that directly on the test paper along with your final answer. It is preferable, if you can, to do work directly
on the test.

1. Solve the following equations by hand for all values of the variable that will make the equation

true. (7 points each)
a. mM—-5m+3)=n+3

(nﬁ')(ﬂ*%) - (D=0
(v3)(n-s-D=0
(M2)n-6)=0 n+3 =0

n=->, n=6

bh. (b+1DMb-2)(b+3)=0

btli=o = b= -|
b-.z;:O =2 b:&
bt-'s-;o = b:'s
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2. Solve the equation 3x24+2x—-5=0 graphically. Sketch the equation you obtain from your

calculator on the graph below and label the solutions. (8 points)
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3. Find the lengths
the hypotenuse
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is 2x-3. (10 points)
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of the sides of a right triangle whose two perpendicular sides are x and x+3, and
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4. Find three consecutwe odd integers such that the product of the first and the third is 96. (10 points)

X K“h.-, X+4
X (x+4) =96
XE-+4Y ’-t e}

(x4 12)( X=3)=O
X=-12, x=%

a. Xxy+3y+4x+12

-\, ~I0, -8
‘Z,‘\olll_

‘M@,’MM

not odd.

ivxk_obw\/%

5. Factor the polyriiomials completely. If it cannot be factored, write prime. (7 points each)

y (et 3)+ 4 (x+3)

= (i)

b. p’—8p+12

(P-)(p-2)

c. t+2t-38 |
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d. 12n2+19n-‘|-5 |2%8 = (o

\2n* +15n + Yn +&

B0 (B +8)+ | (1aS)

(6\:11-!)(}-(!'\ 1)

e. kKP-258

(k" - 1) (k! +6)
E>- ) ) (e = (k-2 () (1+1b)
|

f. X¥yP+1

()(\/ ““‘)CL’WL =Xy + l\

g 427°-12z+9

(22-3)°
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6. Solve the equatlbn 345= @ X402 graphically. Sketch the graph you obtain from your
calculator on the graph below. Clearly state your solution. (9 points)
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7. Solve the equation mx + V2 = V3(x —7) graphically. (10 points)
a. What did you set to be Y1?
J
TX+/2Z
| fal
b. What did you set to be Y2? - ~
wr f'
(x-7) S
3 117
| -
c. State the solu’ﬁion of the equation rounded to = 4 //
two decimal places. = P
| A0l -RIl K| . =] P 4 R
~ - 960
)( ~ 7 7 [/
|
d. Sketch the graph you obtained from your 7 4 //
calculator on the graph to the right, y )4
/
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